KOLAR Document ID: 1723354

Confidentiality Requested:

Yes No

#### Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1
January 2018
Form must be Typed
Form must be Signed
All blanks must be Filled

### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No.:
Name:	Spot Description:
Address 1:	
Address 2:	Feet from North / South Line of Section
City: State: Zip: +	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
	Producing Formation:
☐ Oil ☐ WSW ☐ SWD	Elevation: Ground: Kelly Bushing:
☐ Gas ☐ DH ☐ EOR	Total Vertical Depth: Plug Back Total Depth:
☐ OG ☐ GSW	Amount of Surface Pipe Set and Cemented at: Feet
CM (Coal Bed Methane)	
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
☐ Deepening ☐ Re-perf. ☐ Conv. to EOR ☐ Conv. to SWD	Drilling Fluid Management Plan
☐ Plug Back ☐ Liner ☐ Conv. to GSW ☐ Conv. to Producer	(Data must be collected from the Reserve Pit)
Described	Chloride content: ppm Fluid volume: bbls
☐ Commingled     Permit #:	Dewatering method used:
SWD Permit #:	Location of fluid disposal if hauled offsite:
EOR Permit #:	Location of fluid disposal if flauled offsite.
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date  Recompletion Date	County: Permit #:

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY		
Confidentiality Requested		
Date:		
Confidential Release Date:		
Wireline Log Received Drill Stem Tests Received		
Geologist Report / Mud Logs Received		
UIC Distribution		
ALT I II III Approved by: Date:		

KOLAR Document ID: 1723354

#### Page Two

Operator Name:					Lease Nam	ne:			Well #:	
Sec Tw	pS	S. R	Eas	st West	County:					
	l, flowing an	d shut-in pres	sures, wh	ether shut-in pre	ssure reached	static	level, hydrostat	ic pressures, bo		val tested, time tool erature, fluid recovery,
Final Radioactivi files must be sub							gs must be emai	led to kcc-well-l	ogs@kcc.ks.gov	v. Digital electronic log
Drill Stem Tests (Attach Addit		)		Yes No		Lo		n (Top), Depth a		Sample
Samples Sent to	Geological	Survey		Yes No		Name			Тор	Datum
Cores Taken Electric Log Run Geologist Report List All E. Logs F	t / Mud Log	s		Yes No Yes No Yes No						
			Rep	CASING	RECORD [	Nev		on, etc.		
Purpose of St	tring	Size Hole Drilled		Size Casing let (In O.D.)	Weight Lbs. / Ft.		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
				ADDITIONAL	CEMENTING /	SQUE	EEZE RECORD		<u>'</u>	
Purpose: Perforate		Depth Top Bottom	Тур	pe of Cement	# Sacks Use	ed		Type and	Percent Additives	
Protect Ca										
Plug Off Z										
Did you perform     Does the volume     Was the hydraul	e of the total	base fluid of the	hydraulic	fracturing treatment		-	Yes yes Yes	No (If No, s	kip questions 2 ar kip question 3) ill out Page Three	
Date of first Produ Injection:	ction/Injectio	n or Resumed P	roduction/	Producing Meth	od:		Gas Lift O	ther <i>(Explain)</i>		
Estimated Product Per 24 Hours		Oil	Bbls.		Mcf	Water			Gas-Oil Ratio	Gravity
DISPO	OSITION OF	GAS:		N	METHOD OF CO	MPLET	ΓΙΟΝ:			DN INTERVAL: Bottom
Vented		Used on Lease		Open Hole		Dually ( Submit A		nmingled nit ACO-4)	Тор	BOLLOTTI
,	ed, Submit AC							·		
Shots Per Foot	Perforation Top	on Perfor Bott		Bridge Plug Type	Bridge Plug Set At		Acid,		ementing Squeeze and of Material Used)	
TUBING RECORI	D: S	Size:	Set A	: -	Packer At:					

Form	ACO1 - Well Completion
Operator	Brickley, John dba B8 Investments
Well Name	SEGLEM 6
Doc ID	1723354

### Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight		Type Of Cement		Type and Percent Additives
Surface	12.25	8.63	24	210	Class A	94	3
Production	7.875	5.5	15.5	3170	Class A	100	3

Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
4/28/2023	7183

Bill To		
Brickley Enterprises PO Box 1118 El Dorado, KS 67042		
,		
Customer ID#	1316	

Job Date		4/25/2023
Lease Information		
Seglem #6		
County Butler		Butler
Foreman		DG

			Terms	Net 15
Item	Description	Qty	Rate	Amount
C101	Cement Pump-Surface	1	950.00	950.00
C107	Pump Truck Mileage (one way)	30	5.00	150.00
C200	Class A Cement-94# sack	125	18.55	2,318.75T
C205	Calcium Chloride	350	0.75	262.50T
C206	Gel Bentonite	235	0.30	70.50T
C108A	Ton Mileage (min. charge)	1	390.00	390.00
D101	Discount on Services		-74.50	-74.50
D102	Discount on Materials		-132.59	-132.59T
F				
		0		

## Prefer to have invoices emailed? Send info to rene@elitecementing.com

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$3,934.66
Sales Tax (6.5%)	\$163.75
Total	\$4,098.41
Payments/Credits	\$0.00
Balance Due	\$4,098.41

810 E 7<sup>TH</sup> PO Box 92 **EUREKA, KS 67045** (620) 583-5561



Cement or Acid Field Report Ticket No. 7183		
Foreman	David Gardner	
Camp	ireka	

API 15.015	5-24197	CEIVI		STRACTION	N I I	2.17			
Date	Cust. ID#	Lease	e & Well Number		Section	Township	Range	County	State
4-25-23	1242	Seal	(m #6		16	275.	6E.	Butler	KS
Customer				Safety	Unit #	Di	iver	Unit #	Driver
	ley Ent.	erprises		Meeting	111		1001		
Mailing Address		7		DG	112	Bris	rer		
P.O. ,	Bex 10	7		BIN					
City		State	Zip Code						
El Dero	do	KS	67042						
Job Type	face	Hole Dep	th 230 K.B		Slurry Vol.			Tubing	
Casing Depth_	210.33"	GC Hole Siz	e 12'/4		Slurry Wt.	54		Orill Pipe	
Casing Size & V			eft in Casing 1517		Water Gal/SK			Other	
Displacement_			ement PSI		Bump Plug to			3PM	
Remarks: 5	fety Me	cting: Rg	1 1 3 / 3 / Cal	cosing.	Break cir.	culation	ce/ 10	RbI fresh	vater.
			atec. Shut d						
			lete. Rig dow						
	7	1							
*									
			· ·						S
9									
-				-					

Code	Qty or Units	Description of Product or Services	Unit Price	Total
C101.	/	Pump Charge	950.00	950.00
(107	30	Mileage	5.00	150.00
C200	125 sxs	Class A Cornert	18.55	2318.75
C205	3504	Cactz 3%	.75	262.50
C206	235 H	601 24	.30	70.50
C108A	5.87 Tuis	To Milage - 20 Miles	mle	390.00
	120			
	E.			
				u la
		Thank Vou	Sub Total	4/14/1.75
			Less 5%	215.70
		6,5 %	Sales Tax	172.36
Authori	zation by #/o	Title lighthouse Dulg - Dalle / Feel Rich	Total	4098.41

I agree to the payment terms and conditions of services provided on the back of this job ticket. Any amendments to payment terms must be in writing on the front of this job ticket or in the Customer's records at ELITE's office.

Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
4/30/2023	7240

Bill To		
Brickley Enterprises PO Box 1118 El Dorado, KS 67042		
Customer ID#	1316	

Job Date	4/30/2023				
Lease Information					
Seglem #6					
County Butler					
Foreman	KM				

		,	Terms	Net 15
Item	Description	Qty	Rate	Amount
C102W	Cement Pump-Longstring	1	1,495.00	1,495.00
C107	Pump Truck Mileage (one way)	30	5.00	150.00
C201	Thick Set Cement	135	24.25	3,273.75T
C207	KolSeal	675	0.56	378.00T
C208	Pheno Seal	270	1.55	418.50T
C108A	Ton Mileage (min. charge)	1	390.00	390.00
C421	5 1/2" Latch Down Plug	1	285.00	285.00T
C661	5 1/2" AFU Float Shoe	l î	364.00	364.00T
C604	5 1/2" Cement Basket	ı î	278.00	278.00T
C504	5 1/2" Centralizer	5	59.00	295.00T
D101	Discount on Services		-101.75	-101.75
D101	Discount on Materials		-264.62	-264.62T

# Prefer to have invoices emailed? Send info to rene@elitecementing.com

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$6,960.88
Sales Tax (6.5%)	\$326.80
Total	\$7,287.68
Payments/Credits	\$0.00
Balance Due	\$7,287.68

810 E 7<sup>TH</sup> PO Box 92 EUREKA, KS 67045 (620) 583-5561



Cement or Acid Field Report						
Ticket No. <b>7240</b>						
Foreman Kevin McCoy						
Camp Eureka						

API 15-015-24197

Date	Cust. ID#	Lease	e & Well Number		Section	To	wnship	Range	County	State
4-30-23	1242	Seglen	#6		16	2	75	6 <i>E</i>	Butler	Ks
Customer				Safety	Unit#		Driv	/er	Unit #	Driver
-416%	ley Ent	erprises		Meeting	104		Alan			
Mailing Address	/	/		AM	110		ShANN	ON T.		
P.o. Box	107			SF			y-11			
City		State	Zip Code							
EldorA	do	Ls	67042							
Job Type Longstring Hole Depth 3180' K.S. Slurry Vol. 33 BHL Tubing										
Casing Depth_	Casing Depth 3/69.79 6.4. Hole Size 77/8 Slurry Wt. 13.8 Drill Pipe									
Casing Size & W	Casing Size & Wt. 51/2 15.50 Cement Left in Casing Water Gal/SK Other									
Displacement_	76 BBL		ement PSI 200		Bump Plug to	133	50 PS1		BPM	
Remarks: SA	Fety Mee		15.50 "CASING .							
Kig up to S	1/2 CASIN	9. BREAK C	inculation w/	10 Bb	L tresh w	Atel	C. MIX	ed 100	SKS THICK.	Set Cement
w/ 5# Kol-SeA	6 /5K 2	#PhenoseAL	15K@ 13.8 #/9.	AL VIEI	d 1.85 = 3	3 B	bl 5/01	RY. WA.	shout fume	& Lines.
Shot down ?	Release C	Atch down	Plug. Displace	Plug ?	to SEAt W,	176	BBL F1	esh w	Ater. FINAL	Pumping
PRESSURE 70	10 PSI. Bu	imp Plug to	1350 PSI. WAIT	2 m	ns. Releas	e /	Ressur	E. FloAT	L & flug Held	d. 600d
CIRCUlAtiON	@ ALL +	imes while	Cementing.	Job Co	mplete. 3	196	down.			
					/	/	•			À
				9						Ŷ.
										1

Pl	29	R.H.	20	5K5	M. H.	15 5KS	
----	----	------	----	-----	-------	--------	--

Code	Qty or Units	Description of Product or Services	Unit Price	Total
102W	1	Pump Charge	1495.00	1495.00
: 107	30	Mileage	5.00	150.00
201	135 s.Ks	THICK Set Cement	24.25	3273.75
207	675 #	KOL-SEAL 5#/SK 100 SKS LONGSTRING	. 56 #	378.00
C 208	270 #	Phenoseal 2"/sk / 205K R.H. 155K5 M.H.	1.55 #	418.50
C 108 A	7.42 Tons	Ton Mikage	m/c	390.00
: 421	1	51/2 Latch down Plug	285.00	285.00
2 661	1	51/2 AFW Float Shoe w/ Latch down insert	364.00	364.00
604	1	51/2 Cement Basket	278.00	278.00
504	5	51/2 x 77/8 Centralizers	59.00	295.00
-			SUB TOTAL	7,327.25
*		THANK YOU 6.5%	Sales Tax	383.56 343.99
	to the same	Title Lighthouse Dry Toolpugher	Total	7,287.68

	10 10 10 10 10 10 10 10 10 10 10 10 10 1	NWS 100 200 SAW	GEOLOGICAL SUPERVISION FROM 1600 TO TO	-	RTD 5000 LTD 3007 ELEGIRICAL SURVEYS  MUD UP 3200 TYPE MUD Chemical	I COMP #6  NO STATE KONSUS  AKT HOUSE OF E  OF STATE KONSUS  AKT HOUSE DIFTING  ALT HOUSE	
74 1/2		2.2½ 3.3½	4 5 6				
				(700)		LS am fon En Kolly  Sh. any  L. s. s. t. E.	
						Shappy  Shappy  LSag to vifat. den.  L'Sag t	
				J.O.O.O		1.5 wh. com 54 quy 1.5. 95 x 59	
				2100 Konsas (.tx 2126 (-714)		LS who can mat sous us to it. guy fille den.	
				7200		Lis which a as  Es which was goes that	
						26 61K 26, 1t-wed quy/com syn to mys. LSE 4th ip. Sois CKNIB 26.61K 26.51K	

									2300		fh. qy	6470	
											L9 mad g bin fort		
											5h. quy - bik		
											Le com-1t.gay. fxtn.den NA	See	
									2400	Winner  (Ga see Special Control of Control o	5h ik-It guy		
											L9 wh/com/It.gry Fuxtlu demse	a.com	۲
											To be a second of the second o		
										The A	s. (tot, (t. gay, edy	. crossed	
									Pawnee 24876-1075 2500	N 10 2 3 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	Ls Cron ton Instructed		
											ghany, bul	teasper (	
											L& Bin, gry son-origit	riscond	
											sh bill as com ton the guy 74. but scitst itguy sdy		
											5h gry	ere energy year y	
									7600		Li com/st.brallt.gu,		
									, , , , , , , , , , , , , , , , , , , ,		Shany	Section 1994	
			Total Control of Contr			PARTIE A			e Charles de La companya de la compa		5h. GIK 55 wat fr. sta pyr. 245 odd. 511' call	wym	
1 100 100 100 100 100 100 100 100 100 1										1 *	Sh gw. canbip		
									4 th				***************************************
									2700				
•											3 h 9 w		
										CONTRACTOR		ence.	-
@ @									W 199185 30	MINUTE STATE OF THE PARTY OF TH	ss medar solordd fairsts	cannot	
Ć G	E								M1/98185101012		Chart, fresh, blue, whith and y thip.ip. faint fly Nocut NED L.S. Cran YFQ DY D.O.A. NUP. > toin edges  Dolo fu. saccosic pack adam	seat 5th.  Cuk = 1 u  UK stewn cust  NUTCO	
Ć									J. 800		Dolo fr. successic peop adon scattre. cut she NO RU  Polo dil bon y 5- on you orgil by		
											ingil Dy	All the second s	sterndos M. datum (1730 ° *** -
												·	
											Polo vel		
•											to v by to to and , glace NUB	iones	
									antodriler			56600 1506\	
ت									HOD		LE Con for Jyln-wyba. Leave Dy		
		eron in the										Constant of the Constant of th	•
									3 <i>000</i>	25)		eminade S	
									7 000		Lis con, tons sa-melythe dolb up. Dy	British of	
												dense.	
,													
									Kindrohoux 3 075-(-1663)	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	sh. bus gry, gn		
									}(o0				
Č.									Viola	and the second s	gh. ary bill	6,800	
LAY R									3144(-1732)		gd fly getong cut - fly	6,160	
									Anies.		gowh. Fitm. dense non-cok give remented NOP m-d-es gr. slicele  Pelly mudstone trex		•
									3700		Pebly mudyone arex		
-													
													·
												. Prices	